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ANDHRA UNIVERSITY
SCHOOL OF DISTANCE EDUCATION

ASSIGNMENT QUESTION PAPER 2019 - 2020
M.A. (Previous) Economics

Answer ALL Questions

Paper - I : MICRO ECONOMIC ANALYSIS

(20 Marks)

1. Why Economic problem arise.

Ä]∆ø£ düeTdǘ \T ‘·̋ …‘·Ô&ÜìøÏ >∑\ ø±s¡D≤\qT Áyêj·TTeTT.

2. Critically examine the marginal analysis

ñbÕ+‘· $X‚¢wüDqT $eTs¡ÙHê‘·àø£+>± |ü]o*+|ü⁄eTT.

3. Write about pigovian welfare economics

|æ>∑÷$j·THé dü+πøåeT ns¡úXÊÁdüÔeTTqT >∑÷]Ã sêj·T+&ç.

4. Discuss the price determination under monopolistic conditions.

@ø£kÕ«eT´b˛{°̋ À <Ûäs¡ ìs¡íj·T+ m˝≤ »s¡T>∑T‘·T+<√ #·]Ã+#·TeTT.

5. Critically examine the liquidity preference theory of Interest

Á<äyê´‘ê´_s¡T∫ e&û¶ dæ<ë∆+‘êìï $eTs¡ÙHê‘·àø£+>± sêj·T+&ç.

Paper - II : MACRO ECONOMIC ANALYSIS

(20 Marks)

1. Distinguish between absolute and relative income hypothesis

ìs¡ù|øå± Ä<ëj·T dæ<ë∆+‘·eTTq≈£î eT]j·TT |üs¡düŒs¡ Ä<ëj·T dæ<ë∆+‘·eTTqT >∑\ ‘̊&Ü\qT ‘Ó\TŒeTT.

2. Discuss the classical and Keynes Views on the rate of interest.

e&û¶ πs≥T ô|’ dü+Á|ü<ëj·T eT]j·TT ø°qT‡ n_ÛÁbÕj·÷\qT #·]Ã+#·TeTT.

3. State the measures adopted to control inflation.

Á<äy√´\“D≤ìï n<äT|ü⁄˝À ñ+#·&ÜìøÏ ne\+_Û+#·T #·s¡́ \qT ‘Ó\TŒeTT.

4. Explain how income and expenditure flow in a three sector economy.

eT÷&ÉT s¡+>±\ Ä]úø£ e´edüú̋ À Ä<ëj·TeTT eT]j·TT e´j·TeTT @ $<Ûä+>± Á|üeVæ≤kÕÔyÓ÷ $e]+|ü⁄eTT.

5. Explain the quantitative methods of credit control adopted by Reserve Bank of India.

uÛ≤s¡‘· ]»s¡T« u≤´+≈£î |üs¡|ü‹ ìj·T+Á‘·D≈£î Äe\+_Û+#·T |ü]e÷‘·àø£ |ü<ä∆‘·T\qT $e]+#·TeTT.
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Paper - III : QUANTITATIVE METHODS

(20 Marks)

1. Explain the uses of functions in Economics

Ä]úø£ XÊÁdüÔ+˝À Á|üẙTj·÷\ ñ|üjÓ÷>±\qT $e]+#·TeTT.

2. State the uses and limitations of regression analysis

Á|ü‹>∑eTq $X‚¢wüD jÓTTø£ÿ ñ|üjÓ÷>±\qT eT]j·TT |ü]$T‘·T\qT ù|s=ÿqTeTT.

3. Explain the concept of level of significance.

kÕs¡∆ø£‘ê kÕúsTT nH̊ uÛ≤eqqT $e]+#·TeTT.

4. State the properties of binomial distribution.

~«|ü<ä $uÛ≤»qeTT jÓTTø£ÿ <Ûäsêà\qT ù|s=ÿqTeTT.

5. In a binomial distribution, the sum of mean and variance is 28 and the product of mean
and various is 192. Find the binomial distribution.

ˇø£ ~«|ü<ä $uÛ≤»q+˝À, dü>∑≥T eT]j·TT $#·\qeTT\ yÓTT‘·Ô+ 28 >±qT eT]j·TT dü>∑≥T eT]j·TT $#·\qeTT\
\ã›+ 192 >±qT ñqï|ü&ÉT Ä ~«|ü<ä $uÛ≤»qeTTqT ø£qT>=qTeTT.

Paper - IV : PUBLIC ECONOMICS

(20 Marks)

1. Explain the concepts of social and merit goods.

kÕe÷õø£ edüTÔe⁄\T, jÓ÷>∑́ ø£s¡yÓTÆq edüTÔe⁄\ uÛ≤eq\qT $e]+|ü⁄eTT.

2. Write a short note on DUP activities.

&É|òt DUP ø±s¡́ ø£̋ ≤bÕ\ ô|’ ˇø£ \|òüT{°ø£ Áyêj·TTeTT.

3. What is zero base budgetting? Explain the advantages of zero base budgetting.

X̄S´q Ä<Ûë]ø£‘· ã&Ó®{Ï+>¥ nq>±H̊$T? Bì Á|üjÓ÷C≤\qT ù|s=ÿqTeTT.

4. Discuss the role of government in a mixed economy.

$TÁX̄eT Ä]∆ø£ e´edüú̋ À Á|üuÛÑT‘·«eTT jÓTTø£ÿ bÕÁ‘·qT #·]Ã+#·TeTT.

5. Discuss the structure and growth of public expenditure in India.

uÛ≤s¡‘·<̊X̄+˝À Á|üuÛÑT‘·« e´j·T ìsêàDeTT eT]j·TT ô|s¡T>∑T<ä\qT >∑T]+∫ #·]Ã+#·TeTT.
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Paper - V : INDIAN ECONOMIC POLICY

(20 Marks)

1. Briefly examine the structural changes in the Indian Economy.

uÛ≤s¡‘· Ä]úø£ e´edüú̋ À e∫Ãq e´ekÕú|üø£ e÷s¡TŒ\qT ≈£î¢|üÔeTT>± |ü]o*+#·TeTT.

2. What are the objectives of land reforms in India.

uÛ≤s¡‘·<̊X̄+˝À uÛÑ÷dü+düÿs¡D ÄX̄j·TeTT Ò̋$?

3. What is parallel economy? Explain

düe÷+‘·s¡ Ä]∆ø£ e´edüú nq>±H̊$T? $e]+#·TeTT.

4. Explain the problems of rural marketing in India.

uÛ≤s¡‘·<̊X̄ Á>±MTD e÷¬sÿ{Ï+>∑T düeTdǘ \qT >∑T]+∫ $e]+#·TeTT

5. Examine the trends in foreign direct investments in India.

uÛ≤s¡‘·<̊X̄+˝À πø+Á<ä eT]j·TT sêÁwüº Á|üuÛÑT‘ê«\ $‘·Ôdü+ã+<Ûä+˝Àì düeTdǘ \qT |ü]o*+#·TeTT.



6

ANDHRA UNIVERSITY
SCHOOL OF DISTANCE EDUCATION

ASSIGNMENT  QUESTION  PAPER 2019-2020
M.A. (Final) Economics

Answer ALL Questions

Paper - I : ECONOMIC GROWTH AND DEVELOPMENT

(20 Marks)

1. Explain Rostow's Take-off stage.

s√k º̨yé Á|ü‹bÕ~+∫q ªª|ü¢eq <äX̄qTμμ >∑T]+∫ $e]+#·TeTT.

2. Explain the theory of Big-push.

_>¥ ` |ü⁄wt dæ<ë∆+‘·eTTqT $e]+#·TeTT.

3. Critically analyse the relation between economic inequality and economic growth.

Ä]úø£ ndüe÷q‘· eT]j·TT Ä]úø£ eè~∆\ eT<Ûä́  >∑\ dü+ã+<Ûëìï $eTs¡ÙHê‘·àø£+>± $X‚¢wæ+#·TeTT.

4. Critically examine J.E. Meade's model of economic growth.

C….Ç. MT&̊ Á|ü‹bÕ~+∫q Ä]úø£ eè~∆ düeT÷HêqT $eTs¡ÙHê‘·àø£+>± |ü]o*+#·TeTT.

Paper - II : INTERNATIONAL TRADE AND FINANCE

(20 Marks)

1. Explain the Leontief Paradox

*j·÷Hé{°|òt yÓ’|üØ‘·́ + >∑T]+∫ $e]+#·TeTT.

2. Explain the meaning and components of balance of payments.

$<̊o yê´bÕs¡ #Ó*¢+|ü⁄\ X‚wüeTT jÓTTø£ÿ ns¡úeTTqT, n+<äT˝Àì uÛ≤>∑+\qT $e]+#·TeTT.

3. What is international liquidity? State the determinants of international liquidity.

n+‘·sê®rj·T Á<äe´‘·«+ nq>±H̊$T? n+‘·sê®rj·T Á<äe´‘·«+ jÓTTø£ÿ ìsê∆]‘·\qT ‘Ó\T|ü⁄eTT.

4. "Trade as an engine of economic growth" - Discuss.

ªªn+‘·sê®rj·T yê´bÕs¡eTT Ä]úø£ eè~∆ jÓTTø£ÿ j·T+Á‘·eTTμμ #·]Ã+#·TeTT.

5. Critically review the achievements and failures of Asian Development Bank.

Ädæj·÷ n_Ûeè~∆ u≤´+≈£î kÕ~Û+∫q $»j·÷\qT, <ëì yÓ’|òü̋ ≤´\qT $eTs¡ÙHê‘·àø£+>± düMTøÏå+#·TeTT.
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Paper - III : ECONOMICS OF SOCIAL SECTOR AND ENVIRONMENT

(20 Marks)

1. Explain the Hedonic market equilibrium

ôV≤&=ìø̆ e÷¬sÿ{Ÿ düeT‘Í\´eTTqT $e]+#·TeTT.

2. State the rules of sustainable development.

ì\ø£&É‘√ ≈£L&çq n_Ûeè~∆øÏ ø±e\dæq dü÷Á‘·+\qT ‘Ó\T|ü⁄eTT.

3. What health problems are caused by air and water pollution.

>±* eT]j·TT ˙{Ï ø±\Twǘ eTT @ Äs√>∑́  düeTdǘ \qT ø£\T>∑CÒj·TTqT.

4. Explain the interaction between economy and environment.

Ä]∆ø£ e´edüú≈£î eT]j·TT |üsê´es¡D≤ìøÏ eT<Ûä́  |üs¡düŒs¡ #·s¡́ qT >∑T]+∫ $e]+#·TeTT.

5. What do you mean by optional depletion of exhaustible resources? Describe a simple
model of optimal depletion.

|ü⁄qs¡T‘·Œ‹Ô bı+<äì eqs¡T\T n_Û\wüD°j·TyÓTÆq ø°åD‘· nq>±H̊$T? n_Û\wüD°j·TyÓTÆq ‘·s¡T>∑T<ä\ dü+ã+~Û+∫q
kÕe÷q´ qeT÷HêqT $X̄Bø£]+#·TeTT.

Paper - IV (A) : INDUSTRIAL ECONOMICS

(20 Marks)

1. Why is capacity utilisation poor in Indian Industry? Explain.

uÛ≤s¡‘·<̊X̄ |ü]ÁX̄eT\˝À kÕeTs¡ú́  $ìjÓ÷>∑+ m+<äT#̊‘· ‘·≈£îÿe>± ñqï<√ $e]+#·TeTT.

2. What are the objectives and functions IDBI.

uÛ≤s¡‘· bÕ]ÁXÊ$Tø£ n_Ûeè~∆ u≤´+≈£î \øå±´\T eT]j·TT $<ÛäT Ò̋$?

3. Critically examine the Weber's theory of Industrial location.

yÓãsY Á|ü‹bÕ~+∫q bÕ]ÁXÊ$Tø£ dü+düú\ düú\ ìs¡íj·T dæ<ë∆+‘·eTTqT $eTs¡ÙHê‘·àø£+>± |ü]o*+#·TeTT.

4. Examine the role of Industrial Finance Corporation of India in Providing Financial
assistance to industries.

|ü]ÁX̄eT\≈£î $‘·Ô düVü‰j·T+ n+~+#·&É+˝À uÛ≤s¡‘· bÕ]ÁXÊ$Tø£ $‘·Ô dü+düú jÓTTø£ÿ bÕÁ‘·qT |ü]o*+#·TeTT.

5. Explain the various social security schemes adopted by the Government of India to industrial
labour

bÕ]ÁXÊ$Tø£ ÁXÊ$T≈£î\≈£î uÛ≤s¡‘·<̊X̄ Á|üuÛÑT‘·«eTT neT\T #̊düTÔqï $$<Ûä s¡ø±\ kÕe÷õø£ uÛÑÁ<ä‘· |ü<∏äø±\qT >∑T]+∫
$e]+#·TeTT.
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Paper - IV (B) : DEMOGRAPHY

(20 Marks)

1. Describe the Malthusian population trap.

e÷\údt #Ó|æŒq »HêuÛ≤ e÷≥TqT $X̄Bø£]+#·+&ç.

2. What is migration? Explain various types of migration.

e\dü nq>±H̊$T? $$<Ûä s¡ø±\ e\dü\qT $e]+#·TeTT.

3. Discuss the optimum theory of population and its limitations.

n_Û\wüD°j·T »HêuÛ≤ dæ<ë∆+‘·eTTqT, <ëì |ü]$T‘·T\qT #·]Ã+#·TeTT.

4. Critically examine the population policies in India.

uÛ≤s¡‘· <̊X̄+˝À »HêuÛ≤ $<ÛëHê\qT >∑÷]Ã $eTs¡ÙHê‘·àø£+>± |ü]o*+#·TqT.

5. Explain the different methods of population projections.

»HêuÛ≤qT n+#·Hêẙj·TT≥≈£î ñ|üjÓ÷–+#·T $$<Ûä |ü<ä∆‘·T\qT $e]+#·TeTT.

Paper - V (B) : LABOUR ECONOMICS

(20 Marks)

1. What are the advantages and disadvantages of rationalisation.

düÁø£eT e´ed”úø£s¡D jÓTTø£ÿ Á|üjÓ÷»Hê\T eT]j·TT nÁ|üjÓ÷»Hê Ò̋$?

2. Explain the relationship between productivity and wage.

ñ‘êŒ<äø£‘·≈£î eT]j·TT ẙ‘·HêìøÏ eT<Ûä́  >∑\ dü+ã+<Ûëìï $e]+#·TeTT

3. Explain the concepts of workers participation in Management.

bÕ]ÁXÊ$Tø£ dü+düú\ ìs¡«Vü≤D˝À ø±]à≈£î\T bÕ˝§ZqT≥ uÛ≤eqqT $e]+#·TeTT.

4. Critically examine the labour market policies in India.

uÛ≤s¡‘·<̊X̄+˝À ÁXÊ$Tø£ e÷¬sÿ{Ÿ $<ÛëHê\qT $eTs¡ÙHê‘·àø£+>± |ü]o*+#·TeTT.

5. Review the measures taken by the government of India for the promotion of labour welfare.

ø±]àø£ dü+πøåeTeTTqT ô|+bı+~+#·T≥≈£î uÛ≤s¡‘·<̊X̄ Á|üuÛÑT‘·«eTT #̊|ü{Ïºq #·s¡́ \qT düMTøÏå+#·TeTT.
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Paper - V (B) Optional : ECONOMICS OF GENDER AND DEVELOPMENT

(20 Marks)

1. State the causes for declining sex ratios in India.

uÛ≤s¡‘·<̊X̄+˝À Ád”Ô ` |ü⁄s¡TwüßìwüŒ‹Ô ‘·–Zb˛e&ÜìøÏ >∑\ ø±s¡D≤\qT ‘Ó\T|ü⁄eTT.

2. Explain the concepts of productive and unproductive work.

ñ‘êŒ<äø£ |üì eT]j·TT nqT‘êŒ<äø£ |üì uÛ≤eq\qT $e]+#·TeTT.

3. What are the factors affecting female entry in labour market.

ÁXÊ$Tø£ e÷¬sÿ{Ÿ̋ À Ád”Ô\ Á|üẙXÊìï Á|üuÛ≤$‘·+ #̊ùd n+XÊ Ò̋$?

4. Elucidate the gender bias in the theories of value and distribution.

$\Te eT]j·TT |ü+|æD° dæ<ë∆+‘ê\˝À *+>∑ $|üø£å‘·qT $X̄Bø£]+#·TeTT.

5. Analyse the measures taken by the government of India to empower women.

Ád”Ô\ kÕ~Ûø±]‘· ô|+bı+~+#·&ÜìøÏ uÛ≤s¡‘· Á|üuÛÑT‘·«+ rdüTø=qï #·s¡́ \qT $X‚¢wæ+#·TeTT.


